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Programming in Java
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Time : 3 Hours ] [ Max. Marks :- 70

Note:

ﬁ'é?T :

Note:

ﬁéQT :

The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.
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Section - A 7X2=14
(Very Short Answer Questions)

Answer all questions. As per the nature of the question
delimit your answers in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.
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(iii)

(iv)

(v)

(vi)
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What do you mean by Platform Independent?
Platform Independent & 31 &1 I91d & ?

What is Java Bytecode?
Java Bytecode &1 8 ?

What is this keyword?
Keyword @7 g ?

What is Abstract class?
Abstract class &7 2 ?

What do you mean by CLASSPATH?
CLASSPATH & 3119 &7 9T 8 2

What is Interfaces?
Interfaces T € ?

(vii) What is Exception?

Exception &7 g ?

Section - B
(Short Answer Questions)

7%X4=28

Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
(|vs - 9)
(T TR aTel UeT)
fAder: gl aR uel & IR U1 ITR 200 oregf § S0I TdD
U9 7 3feh! Bl gl
2) Explain the four features of Java?
ST Y AR fIATA IS |
CS-08/100/ 4 ) (Contd.)



802

Explain the working of JVM?
JVM &) BRIguTe &1 adrgd|

What is the difference between Nested and Inner class?

Nested 3R Inner & 9 % g1y |

Explain the difference between Abstract Class and Interfaces?

Abstract Class 3R Interfaces & & heh g8 |

Explain the try and catch block in Java?

STET § Try 81K catch block P SaTs|

Explain the Basic concept of Java Applet?

STaT Applet & Basic concept & R § gargd|

Explain the block diagram of exception class hierarchy? .

Exception class hierarchy & sl I & R § gargd|

Write a program in Java to find out the largest number between
three number?

I R § & FeH IS R Pl gal BT U STar H forlRau|

Section-C 2X14=28
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum upto 500 words. Each question carries
14 marks.

(Tvs - w)
(Sref TR ¥9A)

fader : fh=gl Q1 Ul & IR SIRIU| IR T 7fehad 500 Teai H

RGBT 1 U 99T 14 37chl T ¢
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10) Explain the arrays in Java with example.

STaT H UST al fadRYde IqTeRvl Afed FHsIRY |

11) Explain the Java Built - in packages?
Ufehorst H STET Built 1 o Ryder Iamsy|

12) Explain the life cycle of Thread.
Thread &1 life cycle ®I ST |

13) Explain the Applet life cycle with example.
Applet & life cycle DT SETERUT Afed THSSY |
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